® HAC. HADZ%

-

ERR-OBESI)

RS

HR
HAC/DIff
St

HAC0806-2

HAD1410 .

HAC1416-2
HAD2016

HAD2540

HAC2025-2 HAD4275

fiTmm

HAC:ZFLEER 6-150mm LEE =H : HETIE
2:hiE N : RisZhig
EX[i5ES

HAD : EIEE=

o

HACD : Za%h=

4-1P01

ISO9001:2015 Ce

HAC, HADZ%!

RIPaR

HACZ?
%
§ s m
HAC/DBff
BAUREER | R | O O S -
HAC-0806 2 7,200 0.5 2 6 2 1 0.5
HAC-1005 5 3 10,800 1 3 7 3 15 0.8
HAC-1008 8 4 14,400 2 4 9 3 15 0.8
HAC-1210 10 5 18,000 5 10 30 2 15 0.8
HAC-1412 12 15 36,000 8 50 100 3 15 0.8
HAC-1416 16 20 40,000 10 70 150 3 15 0.8
HAC-1420 20 25 48,000 12 80 160 3 15 0.8
HAC-2020 20 40 48,000 30 200 700 35 2 1
HAC-2030 30 50 54,000 30 200 700 35 2 1
HAC-2050 50 60 66,000 60 400 1200 3.5 2 1
HAC-2525 25 80 60,000 200 800 1500 4 2.5 1
HAC-2540 40 120 84,000 300 1200 2000 4 25 1
HAC-2550 50 98 98,000 15 40 160 4 25 1
HAC-2580 80 150 127,500 20 50 200 4 25 1
HAC-3660 60 250 125,000 400 1500 2400 4 2.5 1
HACD-2030 30 45 54,000 40 300 900 3.5 2 1
HACD-2035 35 52 62,400 40 200 650 35 2 1
*THERE-10~80°C
HADZ%
f i
| 718 BARKEEE /NS IRITRE S EAENER B EHIRE
HAD-1410 10 20 24,000 80 32
HAD-1415 15 22 26,400 120 3.2
HAD-2016 16 25 32,000 200 3.6
HAD-2025 25 39 39,000 312 3.6
HAD-2525 25 85 51,000 400 3.6
HAD-2530 30 95 57,000 480 3.6
HAD-2540 40 100 84,000 700 36
HAD-2550 50 98 98,000 720 4.2
HAD-2580 80 150 127,500 800 4.2
HAD-3625 25 150 90,000 1,400 3.2
HAD-3650 50 300 108,000 1,400 3.2
HAD-4225 25 260 130,000 3,000 3.6
HAD-4250 50 500 155,000 4,000 4.8
HAD-4275 75 750 187,000 6,000 4.8
HAD-64050 50 12,000 1,560,000 12,727 1.6
HAD-64100 100 24,000 1,920,000 18,181 1.6
HAD-64150 150 36,000 2,520,000 23,636 1.6
*T{ERE-10~80°C
4-1P02



® HAC. HADZ%

RS

HR

HAC/DIff
St

4-1P03

g sERT

ERR-OBESI)

-

ISO9001:2015 Ce

8 sERT

HAC. HADZ%I |®

H Thread _, |
H Thread | g
L o =
0 HAC-2540 0 f HAD-2540 JAGT- T
TR S . — ||
0 HAC-3660 | fl HAD-3625 c
[ E |Stroke| B
E |Stroke — B u HAD-3650 A
H Thraad |
H Thread | a =
m] 1 _ I R
n %W —t 1 A R H
H G c
f HAC-2030 0 —{ § HAD-64050 Eludic —
E Stroke| B
0 HAC-2035 £l HAD-64100
Thread
fl HAD-64150
H Thire: | )]
1 M
2 ﬁ ™
T T T T o
AL
= - €]
E Stroke 5 = = E E Stroke — B
§ s
&/ 55 Thred A B (¢ D E F G H |
i R~3%E HAD-1410-N M14x1.5 - 88.5 72.5 4 - - - 19 6
HAD-1410 M14x1.5 112.8 88.5 72.5 4 143 12 = 19 6
H/GE Thred A B (] D E F (¢] H | HAD-1415-N M14x1.5 - 88.5 72.5 4 - - - 19 6
HAC-0806 M8x1.0 50 38 33 2.8 6 6.6 - 11 3 mgjggiz_,\l mgzig 11_7'8 ’ﬁ; 71%15 g l‘f'3 1_2 - ;2 g
HAC-1005 M10x1.0 38.7 27.7 22.9 3 6 8.6 = 12.7 3 MEBEATE WiBEE e i 61 z T8 78 . 5% 3
HAC-1008 M10x1.0 57 43 38 3 6 8.6 - 12.7 3 HAD-2025-N M20x15 - 117 101 6 - . - % 8
HAC-1210 M12x1.0 69.5 50 45.5 3 9.5 10.3 = 14 4 HAD-2025 M20x1.5 160 117 101 6 18 18 - 26 8
HAC-1412 M14x1.5 102.3 76 67 4 14.3 12 - 19 6 HAD-2525-N M25x1.5 - 1185 101 8 - - - 32 10
HAC-1416 M14x1.5 125.3 95 86 4 143 12 = 19 6 HAD-2525 M25x1.5 163 1185 101 8 195 22 = 32 10
HAC-1420 M14x1.5 129.3 95 86 4 14.3 12 - 19 6 HAD-2530-N M25x1.5 - 1185 101 8 - - - 32 10
HAC-2020 M20x15 148 110 101 6 18 18 - 2% 8 HAD-2530 M25x1.5 168 118.8 101 8 195 22 = 32 10
HAD-2540 M25x1.5 220 1445 117 8 36 - 10 32 10
HAC-2030 M20x1.5 158 110 101 6 18 18 - 52 : HAD-2550 M25x1.5 2475 178 100 8 195 22 = 32 10
ol e T e o © & L - HAD-2580 M25x1.5 344 | 2445 | 100 8 195 - 125 | 32 | 10
HACD-2030 M20x1.5 189 123 44 6 18 18 5 26 8 HAD3625 M36x1.5 1838 | 133 103 10 258 355 10 46 | 10
HACD-2035 M20x1.5 223 123 40 6 15 18 3 26 8 HAD-3650 M36x1.5 246.8 171 134 10 25.8 355 17 46 15
HAC-2525 M25x1.5 155.5 111 101 6 19.5 22 - 32 10 HAD-4225 M42x1.5 1864 | 1275 88 12 339 445 28.5 50 15
HAC-2540 M25x1.5 213 137 117 8 36 22 10 32 10 HAD-4250 M42x1.5 240.9 157 117.5 12 339 445 28.5 50 15
HAC-2550 M25x1.5 240 170.5 100 8 195 22 - 32 10 HAD-4275 M42x1.5 3014 187.5 148 12 33.9 44.5 28.5 50 15
HAC-2580 M25x1.5 3365 237 100 3 195 2 - 3 10 HAD-64050 UNF21/2-12 | 247.8 146 26 20 51.8 59 23 762 | 9.4
HAD-64100 UNF21/2-12 | 247.8 196 26 20 51.8 59 23 762 | 94
HAC-3660 M36x1.5 248 162 134 10 26 35 17 46 15 HAD-64150 UNF21/2-12 | 467.8 256 26 20 51.8 59 23 762 | 9.4

LS
HR

HAC/DHf
SEVEE

4-1P04



HERRIERS

S
HAC/HAD

HAC/DIff

SaEntt

4-|P0O5

”

ERR-OEE S

ISO9001:2015 Ce

{iTm

HAC. HADZ%I|®

T T
B Ae ] RZF RS

HSC:4E i esEATRIE F:M36~M64

& IEEMIt

HR15 _ HR30
f T st R
L HR R 30 F e
U N N -
HRETEEEhERIERS Stroke 21 24 2-6.6 37
1
h |
o) 0 n ;
Q| Q0 I S | N N o - 4
[ ol
A”" : TNl
==
i
I
=)

ChSE
&/ S TIERE
HR15 151 136 15 -10~85 550
HR30 203 172 30 -10~85 550
HR60 280 219 60 -10~85 550
HR80 336 256 80 -10~85 550
HR100 390 290 100 -10~85 550

g sERT

f Hsc-08 f Hsc-10 f Hsc-12 f Hsc-14

M14X1.5

M12X1.0

MI10X1.0

0 Hsc-25

MZ25X1.9

=l
[l
d|0
oo
4-78.5 18 15

HSC-08 | HSC-10 | HSC-12 | HSC-14 | HSC-20 | HSC-25 | HSC-40

HAC-2015 | HAC-2525
:22'121? HAC-2020 | HAC-2550
HAC-1005 HAC-2030 | HAC-2580
A | Lac-0806 | HAC-1007 | HAC-1210 | PACY4L6 | rc 2050 | HAD-2525 | HAC-2540
Bii[=| HAC-1420 HAD-2540
HAC-1008 HAD-1410 | PACD-2030 | HAD-2530

HAD-2016 | HAD-2550

HAD-1415 | |1 AD-2025 | HAD-2580

UNF21/2-12/ | [awmios

HSC-50

HAC-3660
HAD-3625
HAD-3650

HAC-3660
HAD-3650

HAD-4225
HAD-4250
HAD-4275

HAD-46015
HAD-64100
HAD-64150

L S
HAC/HAD
HR

SEnE

4-P06



